GENERAL NOTES:

1. THESE CURTAIN WALL SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN
PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S).

2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO
TRANSFER WIND LOADS TO THE STRUCTURE.

3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT
VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE
MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.

4, THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED &
PROPOSED FOR WATER, AR, IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN
CONFORMANCE WITH ASTM E330, E283, E331, E1886 & E1996 FOR LARGE MISSILE IMPACT
CURTAIN WALL SYSTEMS.

5. THESE CURTAIN WALL SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET THE
REQUIREMENTS OF THE INTERNATIONAL BUILDING CODE (IBC).

6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THIS CURTAIN WALL SYSTEM.

7. ALL ANCHORS SECURING CURTAIN WALL FRAME TO PRESSURE TREATED BUCKS OR WOOD
FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING
CHEMICALS IN THE WOOD.

8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR

WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE INTERNATIONAL BUILDING CODE, A
DIRECTIONALITY FACTOR OF KD = 0.85 MAY BE APPLIED PER THE ASCE-7 STANDARD.
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT.

WIND LOAD DURATION FACTOR CD = 1.6 WAS USED FOR WOOD SCREW ANALYSIS ONLY.
10. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH
OTHER DISSIMILAR MATERIALS SHALL BE SEPARATED OR COATED AS REQUIRED TO AVOID CORROSION

OF EITHER MATERIAL.
11. THERE SHALL BE NO LIMIT TO THE NUMBER OF HORIZONTAL & VERTICAL PANELS USED FOR

ANY JOB PROVIDING ALL RESTRICTIONS ARE MET PER THE ELEVATIONS.

12. TO THE BEST OF OUR KNOWLEDGE, THE CURTAIN WALL SYSTEMS SHOWN HEREIN ARE QUALITY
ASSURED BY AN APPROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN ACCORDANCE WITH
APPLICABLE STANDARDS. THESE DRAWINGS SHOW ALL APPLICABLE ELEVATION, COMBINATION,
INSTALLATION & COMPARATIVE ANALYSIS CONDITIONS AS DETERMINED THROUGH TESTING &
ENGINEERING RATIONAL ANALYSIS. CURTAIN WALL ASSEMBLY SHALL BE IN ACCORDANCE WITH THESE
DRAWINGS, THE MANUFACTURER'S QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS.

13. CERTIFICATION OF THESE CURTAIN WALL SYSTEMS SHALL BE CONSIDERED VOID IF THEY ARE
INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT OR IF
THEY ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH
CURTAIN WALL INSTALLATIONS.

ANCHOR REQUIREMENTS TABLE
(SINGLE SPAN REINFORCED & NON-REINFORCED CURTAIN WALL)

OPENING TYPE FRAME/CLIP TO OPENING MINIMUM|  MINIMUM
(SUBSTRATE) FASTENER TYPE EMBED | EDGE DIST.
F—PERIMETER ANCHOR SCREWS
MIN. 16 GA. 50 KSI METAL STUD|  1/4-14 GR. 5 SELF TAP/DRILL SCREW FULL 1/2

MIN. 2X6 WOOD FRAME OR 1/4” DIA. GR. 5 COARSE THREAD e | s
BUCK (MIN. GR. 2 & G=0.55) SCREW / /
MIN. 1/8" THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 12"
MIN. 3000 PSI CONCRETE (1) 3/8" CONCRETE SCREW ANCHOR 21/ | 2 1/2°
T, F & U-—-ANCHOR SCREWS/BOLTS (VERT|CAL MEMBER ENDS)

3/87—16 430 SS HCMS OR GR. 5 CS THREAD .

FORMING SCREW FULL 3/4

3/8" GR. 5 CS OR 410 SS BOLT WITH LOCK .

WASHER & NUT FULL 3/4

_ . F TAP/DRI ;

WM. 1/4° THK 36 STEEL | /41 OR 20 GRS SELF TAP/DRILL SCREW| FULL 1/2
1/4" GR. 5 CS OR 410 SS BOLT WITH LOCK | ryu, /2"

WASHER & NUT
5/16-24 GR. 5 SELF TAP/DRILL SCREW | FULL 5/8"
5/16" GR. 5 CS OR 410 SS BOLT WITH LOCK | ryi, 5/8"

WASHER & NUT

(2) MIN. 3000 PSI CONCRETE (1) 1/2" CONCRETE SCREW ANCHOR 3 1/4" |SEE DETAILS

(1) 1/2" CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR (GALVANIZED
STEEL).

(2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF "T", "F” & "U” ANCHORS IS 6 3/4”.

THESE DRAWINGS ARE APPLICABLE ONLY TO THE PRODUCT]|ORAWN BY: CHECKED BY:
CORNER CONSTRUCTION: AND/OR INSTALLATION OF ARy OTHER, PRODUCT NOR iaY |[FEa——Tar
G I MO, oA M M R R e TR
BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR g §
BLOCK (ITEM #9). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO THE &
VERTICAL FRAME MEMBER WITH 4 NO. 12 X 7/16" PHTF SCREWS. THE HORIZONTAL ANCHOR LEGEND 3
FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 NO. 12 X 1 1/2 ANCHOR ANCHOR 2
FHTF SCREWS. CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. SYMBOL DESCRIPTION zl=
TWO—PIECE VERTICAL AND HORIZONTAL FRAMING AND INTERMEDIATES: VERTICAL 2le
MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, EBH  [STANDARD WIND LOAD ANCHOR =l
LOCK.(TEM #9) THE SHEAR BLOGK. 15 MEGHANIGALLY TASTENED 10 Te B |STANDARD T-ANCHOR s
. N =z
VERTICAL FRAME MEMBER WITH 4 NO. 12 X 7/16” PHTF SCREWS & . THE $ |DOOR JAMB U-ANCHOR o N
HORIZONTAL FRAME M/EMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 FH & A  |F-ANCHOR (FRAME MEMBER ENDS)| ||%|%
2 PH NO. 12 X 1 1/2" FHTF SCREWS. CORNERS ARE SEALED WITH DOW 795 SEE SHEETS 4—6 FOR Al 4=
SILICONE SEALANT. ANCHORS PETALS OF B E
GLASS D.L.O. SIZE VS. PRESSURE EVALUATION OF THIS PRODUCT IS BASED ON APPLICABLE STANDARDS AND/OR Sro
INFORMATION & RESULTS FROM APPLICABLE TEST REPORTS. THE BUILDING CODE —D0
GLASS MAXIMUM | MAXIMUM I ALLOWABLE VERSION CONSIDERED WITH THIS EVALUATION WAS THAT IN FORCE AT THE TIME OF '8 ,9) ,_Lg
OPTIONS D.L.O. D.L.O. DESIGN THE EVALUATION. IN THE EVENT OF CODE VERSION CHANGES/UPDATES OR IN THE E 7o)
EVENT THAT NEW OR ADDITIONAL TESTING IS COMPLETED ON THIS PRODUCT, PRIOR TO ’3 EL‘J <C n
WIDTH | HEIGHT | PRESSURE STATING CODE COMPLIANCE, THE MANUFACTURER SHALL CONFIRM WITH THE S 38 S 4
» » EVALUATION ENGINEER OF RECORD THAT EVERYTHING SPECIFIED HERE- S CURRENT . x -
1 ; 58 1/27 |93 1/2"[ +/-90 PSF | | Wi ALL CURRENT TESTING, CODES AND APPLICABLE STANDARDS. = e = O,O_IC %:{r
: i» 3. |57 3/4"| 94 3/4|+/=90 PSF - éagg
73 3/4” | 54 5/8"| +/-90 PSF £ £g¢g
58 1/2" |93 1/2"| +/—65 PSF z 292
prd <
4 &5 |57 3/47|94 3/4”|+/-65 PSF E g
” ” Ll.
73 3/4 | 54 5/8" [ +/—65 PSF 3 [
58 1/2° |93 1/2"|+/—110 PSF =
8 57 3/4" |94 3/47|+/-110 PSF & =
73 3/4” | 54 5/8"|+/—110 PSF >'u‘_> 39
SEE GLAZING DETAILS FOR GLASS OPTIONS N
HEIGHT & WIDTH MAY NOT BE INTERCHANGED! 3| g« 3
O w . _m
bHo R
b 2z 3
o | @225
il BRIk
ol 881
© ‘E.'."<° ggg
— | Yo 235y
S 2% .58
1] o 3ca
U)Z ~=
— <
2E=E ¢
5.3
IRy 22
P ) A Z2 O
v"‘ - o ?C .3 I s O
ENCERY ¥ &
3l : %g : e =2
25 s R o) Ot W
AR Do =Y W
30% 3 5s
{79\‘)'-_ ' szU = mz
WA iE £ iy
e . < © \, &
N N
1IN

DRAWING WO
17941

2

>3

SHEET NO.

1 o 12




203" MAX. FRAME HEIGHT

FOR MAX. FOR MAX. FOR MAX. DRAVN T, [CHECKED b
D.LO., SEE D.L.O., SEE D.LO., SEE 73 3/4" e
~— D.LO. SIZE ——{l=—— D.LO. SIZE ——=— D.LO. SIZE ——=—— "3 ¥/ ——~{—2 1/2" e ] oys/
TQSEE 01N TQSEET O1N TQEIIEET Oz" ' ALLOWABLE DESIGN PRESSURE w
<
) (SINGLE SPAN °© {
21/2 |~ 2 1/27 | 2 1/2 —{l— m {212 o NON—REINFORCED N
Al MAX. CURTAIN
e WALL)
B 7 ; K ° SIDE JAMB F—PERIMITER
, Ik /EB < EB | N MAXIMUM | MAXIMUM|  ALLOWABLE 3
. 4 y ANCHOR SCREWS 8
5 : YFOR et (P ) TR/ WHERE SHOWN. . SEE MULLION | LOAD | PRESSURE >
JAMB ' | ' (B2 "ANCHOR REQUIREMENTS SPAN WIDTH | (POS & NEG 2
o— DETAILS, SEE 10 7/ (IN.) (IN.) PSF) e
FRAME | |sheeTs 4, 5 & s = | TABLE” ON THIS SHEET : : z
Al MEMBER 7| T 4 | 4 lb—_ FOR REQUIREMENTS. 76 1/4 81.0 2
52z ' | | _ 9” 72 85.8 3
9§§ ol ' ' I q I, JAMB o MAX. 203 68 5/8 90.0 S
wnd I I Il ~ /ED\ FRAME 62 99.6
o fw INTERMEDIATE MEMBER
E%’jm’ sue | | poER Il \9/ a 56 110.0 S
5o% 7 S Jpw | | (ET 76 1/4 85.6 ey
OE s sV MEMBER 3 2 TYPICAL AT ALL £
TS, (BN s | ' »”" HORIZONTAL 72 90.7 -5319
Zz ™ < = 7T TN He— 9 ZO0MW
ws -\ 2z | I —+ = < MEMBER ENDS 192 68 5/8 95.2 Z. 9
=0l b =c° | = TR NBA > MAX. Tl En?
Byt S 7 4 SR e | ADD 1 EXTRA % o =| 32°92
-0 b eng | @ N0/ PSINCLE OR N Y . ANCHOR WHEN = L0 2| SEgy
= = L O 18’ 76 1/4 90.0 58
w38 REINFORCEMENT Xz DOUBLE DOOR 1| DOUBLE DOOR : 4| G38e
o y <z /UNDER SEPARATE.} MAX. O.C. 3| dogr
95 " 7| =5 P, o (v EXISTS (NOT 180 & LESS |12 95.3 M EPED
| 03] SE == " REQUIRED WITH 68 5/8 100.0 > :E38¢2
LR l AN I Ak SINGLE DOORS) 62 110.0 z |2
| | | ~3 \ /1 NOTES; = E
(2 \ / 1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. % o
P | Y J1N e 2. PRESSURES SHOWN ARE SPECIFIC TO EACH o
\ INDIVIDUAL MULLION SUPPORT AREA. ALLOWABLE @
7 |l 7 % — AL _ 74 l PRESSURE MAY VARY FROM BAY TO BAY AS DICTATED - B
il l/ [“a BY EACH INDIVIDUAL MULLION CONDITION. =
fay . 3. LESSER OF PRESSURES STATED IN THIS TABLE & 0l (=)
\®) "] é$ 4§ THE ALLOWABLE GLASS PRESSURE. AS SHOWN ON = ®
1/2 - 1/2 MAX. SHEET 1, SHALL CONTROL AS ALLOWABLE FOR THE L1 82
/ WALL ASSEMBLY. n o~
— LOAD [~ LOAD WIDTH —=— LOAD WIDTH ——{=—— LOAD WIDTH ——{ LOAD |=— 4. AT SPAN OF 180" & LESS, LOAD WIDTH CONTROLS z!
WIDTH WIDTH THE ALLOWABLE PRESSURE. THEREFORE, IT SHALL S| gw- 2
NOT BE ASSUMED THAT INTERPRETATION OF PRESSURE i © Ho' 15
MEMBER — D.LO. D.L.O. D.L.O. DOOR MEMBER VALUES CAN BE DONE WITH SPANS UNDER 180" — ] 225 .3
CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE THOSE SHOWN oy by V7 oUES BETWEEN % % S ool
EXTERIOR ELEVATION; ra) mé‘:’, §g§, '
SINGLE—SPAN REINFORCED CURTAIN WALL | PeE38
SCALE: 1/4” = 1’0" - | Y85y
: = N <0 -9z
mi S - gB 8
NOTES APPLICABLE TO SINGLE—SPAN REINFORCED R 2 s
=2 [ExE €
1. REINFORCEMENT SHALL RUN CONTINUOUS IN INTERMEDIATE VERTICAL = .D
MEMBERS & EXTEND TO WITHIN 17 1/2" OF THE ENDS. £4 é;%’
2. THERE IS NO LIMIT TO THE NUMBER OF SECTIONS HORIZONTALLY zZ O
PROVIDING THE OPENING IS DESIGNED TO SUPPORT THE LOADS 8 ©
TRANSFERED FROM THE WALL SYSTEM.
3. THE SINGLE-SPAN ELEVATION SHOWN SHOWS ONE DOOR SECTION. R
MULTIPLE DOOR SECTIONS MAY OCCUR SIDE-BY SIDE IN ONE WALL :_"
SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET o~
& PROPER LOAD WIDTH (DISTANCE BETWEEN DOOR CENTERS) IS . = E?
CONSIDERED WHEN DETERMINING ALLOWABLE DESIGN PRESSURE. 3 s o~ 2 8 2 h‘-'—J,’?
4. ALTHOUGH A DOOR SECTION IS SHOWN AT A SIDE JAMB, THAT PISPEN %2 % U_}'. ! = <=
SECTION MAY EXIST WITH OR WITHOUT A DOOR & THE DOOR MAY LI m\{ R m:zl S 5
EXIST IN ANY BAY. oS RN S5 SN (1= =z
5. THE ELEVATION HERE—IN SHOWS T-ANCHORS AT THE BASE OF THE ’{5 M '{, Tz R :(—;’ (A 5 =u
WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A 0, TS ~Iws Y s
WALL IN LIEU OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY s RS N
ARE INSTALLED THE SAME AS SHOWN AT THE BASE. t oy e M 9: 5 DR
6. DOOR OPENINGS WIDER THAN THAT SHOWN ARE NOT PART OF THE R e v T
SCOPE OF THIS APPROVAL. IF WIDER DOOR OPENINGS ARE REQUIRED, ™ S
THEY SHALL BE EVALUATED & CERTIFIED UNDER SEPERATE JOB M Y '.x..'x‘“ﬁ DRAWING NO. JREV.
APPROVAL. 17941 | A
SHEET NO.
2 12 |




DRAWN BY: [CHECKED BY:
FOR MAX. FOR MAX. FOR MAX. s | wws
D.L.O., SEE D.LO., SEE D.LO., SEE . NOTES APPLICABLE TO SINGLE-SPAN NON-—REINFORCED ALLOWABLE DESIGN PRESSURE | ™% [®5ne
L DLO. SiZE —]{|—— D.L.0. SIZE —=}—D.L0. SIZE —{}-—— 73 3/4" Il 5 12" CURIAN WALS
i o TABLE ON MAX. 1. THE ELEVATION SHOWN ILLUSTRATES SIDE JAMB FRAME MEMBERS WITH (SINGLE SPAN REINFORCED o
TABLE ON TABLE ON ABL FULL SPANS END SUPPORTED BY "F" OR "U” ANCHORS. IT IS OPTIONAL CURTAIN WALL &
SHEET 1 SHEET 1 SHEET 1 TO OMIT THE "F" & "U" ANCHORS AND INSTALL THE SIDE JAMB )
RV 5 F—PERIMITER ANCHOR SCREWS AS SHOWN IN THE REINFORCED WALL
2 1/2" —|— 2 1/2" —{— 2 1/2" = ——2 1/2 ELEVATION ON SHEET 2. MAXIMUM | MAXIMUM|  ALLOWABLE 2
I AN/ 2. THERE IS NO LIMIT TO THE NUMBER OF SECTIONS HORIZONTALLY
oS PROVIDING THE OPENING IS DESIGNED TO SUPPORT THE LOADS MULLION LOAD PRESSURE
7 Y TRANSFERED FROM THE WALL SYSTEM. SPAN WIDTH POS & NEG z
A \JH HIE ¢ H é$ 3. THE SINGLE-SPAN ELEVATION SHOWN SHOWS ONE DOOR SECTION. (N.) (N.) ( PSF) o
~r Y/ MULTIPLE DOOR SECTIONS MAY OCCUR SIDE—BY SIDE IN ONE WALL : : &
/B - \ (E2) B3 SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET & 76 1/4 810 s
T Swre FOR END ANCHOR INTERMEDIATE 9/ ¥ PROPER LOAD WIDTH (DISTANCE BETWEEN DOOR CENTERS) IS CONSIDERED - !
S DETAILS, SEE FRAME EN WHEN DETERMINING ALLOWABLE DESIGN PRESSURE. 72 85.8 -
- Jou SHEETS 4, 5 & 6 MEMBER——"] p 4. ALTHOUGH A DOOR SECTION IS SHOWN AT A SIDE JAMB, THAT SECTION 150 68 5/8 900 o
5 c» 9 Z4 MAY EXIST WITH OR WITHOUT A DOOR & THE DOOR MAY EXIST IN ANY : g
o X =z BAY. 62 99.6 @
T <50 = s 5. THE ELEVATION HERE—IN SHOWS T—ANCHORS AT THE BASE OF THE I
w o o j’l\R/ /q i WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A 56 110.0 S I
s oy WALL IN UEU OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY ARE
= S»na W KFO\ = fg\ I SING/LE| C83 < INSTALLED THE SAME AS SHOWN AT THE BASE. 76 1/4 81.4
L = (2N U .o U R \8/ 6. DOOR OPENINGS WIDER THAN THAT SHOWN ARE NOT PART OF THE 72 89.4 .

) 0 P > = | { DOUBLE DOOR | SCOPE OF THIS APPROVAL. IF WIDER DOOR OPENINGS ARE REQUIRED, 144 68 5/8 938 ey
> ’ Z 23 <= 7 UNDER SEPARAT THEY SHALL BE EVALUATED & CERTIFIED UNDER SEPERATE JOB APPROVAL. : =53
< | =i | APPROVA ! 7. WHEN THERE IS NO CONTINUOUS JAMB SUPPORT, THE MINIMUM & 62 103.8 ~OQwn
; s e MAXIMUM ALLOWABLE SPACE BETWEEN JAMB FRAME MEMBERS & THE ZOMWY
o y Y 4 A == =rlg——— OPENING SUBSTRATE OR FINISHES SHALL BE SPECIFIED BY THE ENGINEER 58 110.0 ~l T 3
) 7 - OPPOSITE ~o AN / OR ARCHITECT OF RECORD FOR EACH JOB BUT SHALL NOT BE LESS THAN =] 2051
D s 76 1/4 90.0 25

| | | AT ~3 | 1\ /U 1/2" NOR GREATER THAN 1 3/8". WHEN CONSIDERING TYPE, DEPTH & =1 oz .2
\// o \ / JOINT SPAN OF SEALANT, THE ENGINEER/ARCHITECT SHALL TAKE INTO 132 & LESS |72 95.3 Jl 9w+
/A3 | \ ] Y J CONSIDERATION THE DEFLECTION OF THE JAMB MEMBER THAT WOULD 68 5/8 100.0 581
P 2l /g L % | OCCUR WHILE SUPPORTING THE JOB REQUIRED DESIGN WIND PRESSURE. 24| Uoer
Zan )7 4 - = == ALSO TO BE CONSIDERED SHALL BE THE MATERIALS & SURFACES TO 62 110.0 <l z,.8™
I FAAS - | WHICH THE SEALANT WILL BE APPLIED. NOTES: =235
A | o) L e 4 4 1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. z |2 goz
\&) 4 2. PRESSURES SHOWN ARE SPECIFIC TO EACH -l
1/2 - 1/2 INDIVIDUAL MULLION SUPPORT AREA. ALLOWABLE E g
X - S _— — PRESSURE MAY VARY FROM BAY TO BAY AS DICTATED
—1 LOAD LOAD WIDTH LOAD WIDTH LOAD WIDTH LOAD BY EACH INDVIDUAL MULLION CONDITION. 8 =
WIDTH WIDTH 3. LESSER OF PRESSURES STATED IN THIS TABLE & o
THE ALLOWABLE GLASS PRESSURE, AS SHOWN ON - I8
MEMBER — D.L.O. D.L.C. DOOR MEMBER &IHEET ;,SESHBALLL CONTROL AS ALLOWABLE FOR THE s —
ALL A MBLY. ] (&)
CENTERLINE CENTERLINE EXTERIOR ELE\?:TI'EI(R)L;INE CENTERLINE - CENTERLINE 4 AT SPAN OF 132" & LESs, LoaD wioTH controts | I E5 | @
: THE ALLOWABLE PRESSURE. THEREFORE, IT SHALL v 2
NOT BE ASSUMED THAT INTERPRETATION OF PRESSURE| [| @ | ¢n—
SINGLE—SPAN NON-—REINFORCED CURTAIN WALL VALUES CAN BE DONE WITH SPANS UNDER 132", 2
SCALE: 1/4” = 1'-0” INTERPRETATION OF PRESSURE VALUES BETWEEN S| g+ 2
: - THOSE SHOWN MAY APPLY. © | Mg =3
-l z=2& 3
o | © . 2=
| 58 ey
o | mSeEs
B
o} g B0
\at *w w
N <Q -—g z
M 5 - 3mT
- ne ="
~
] o v Z —(l
.'_ a
-— -
£
3FZ
‘.\&'\\‘t;‘ iy % 8
- N :C”g:)iﬁ S
o e gl a:\ ;-._\,,4’/ %-
v".:) “,., : L . -.‘ /;()S; wi
AN o . 3 5 .'.‘1p’ a
s - LG} o 5
o ": :‘,1 N 8 s d)'.('i b o~ i
B 8L 1T LT3 Tl < £
Tl LT - Wi O 05
AR S R SO 0z
e ERIERN & 2
GRS N 3 =
Nt ‘: P
-1*:) x .y ‘/: \ B
9«!}-"S s
o — DRAWING NO. [REV.
17947 [ A
SHEET NO.
3 o 12




DRAWN BY. CHECKED 8Y:
S— LA LN w.WS.
SUPPORTING POt [oAE ]
1/2-13 X 4 1/2" STEEL x 1a3 03/19/13
HEx HEAD BOLT & SUPPORTING STEEL
FLAT WASHER SUBSTRATE < SUBSTRATE BY < i
BY OTHERS OTHERS S
B w o
EXTERIOR @@\ . p— 5
= /
NS S8 SN SN %
0 8 A g
N £ z
& s aln :
< ® :
NI/ v, S
4 ] -4
: =06 T
1/2-13 LOCK NUT g S
& FLAT WASHER =253
/ ;833
)
4 < 'e]
) 3| 5234
o -
1 1/2" M. |4 1/2” MIN. N ] z}:_:g‘]f
1 _, ‘-'-’(330:2
4 = L O~
» 4 Z < Znx
,\f T _ 1 1/2 TO =z | gg%
| TOP OF SLOT > |5
=< Iz
[ =
1 ., | SUPPORTING & S
2.1/4 o= STEEL SUBSTRATE i ©F
LA : BY OTHERS | 8
=1 1/4”| /MIN. 3" ; = —
11/2 | || —9/16” X 3” SLOT IN ANGLE TO 0| %3
{ N ACCEPT BOLTS. SLOT POSITION ol ox
1 | SHALL BE ALIGNED AND CENTERED ol 2! o
i VERTICALLY WITH BOLTS UPON Sl 5. .3
21/470 00 NS INSTALLATION. 2| B g7,
| | 4o o] SUPPORTING STEEL il I P
f SUBSTRATE BY OTHERS w | G Egs
I\ﬁ I < o~ 83.'—
11/2" 70 < w | B 238
- BOTTOM OF SLoT 1/47 N EOER
FH STANDARD WIND LOAD ANCHOR at So 852
SCALE: 1/3 FULL = ggg &
5 .
- T BT, 8 o
NOTE: ALL 1/2” BOLTS N 7 PR S ~../é.5. _
CONNECTING ANGLES TO EL N T E§§ %’{;” - u
MULLIONS SHALL BE GRADE ‘ '*,,,155 2 ‘i}.‘-i{ S 5%
5 STEEL OR 300 SERIES ALTERNATE WELD DETAIL FOR WIND LOAD q,:@‘i 232 s o g:
STAINLESS STEEL. ANCHORS T E; % - \\“’_.:(;3 R 3
SCALE: 1/3 FULL W, 1Z o7 EW
T, e o
TS ATl g T
i, L a
B
179471
SHEET NO.
4 o 12




N /—(:X:> 6 1/2" .
T L Mlﬁ. -/
‘ /| /| *
1 | " | A NP
A ”// \\“ A \Q\\‘gj @ T—ANCHOR
B B,
A2ne i i ©

7 5/8" 5 5/8"

SUBSTRATE BY
OTHERS PER

"ANCHOR .,
REQUIREMENTS T

TABLE”
1/2" CONCRETE—/

SCREW PER
"ANCHOR

REQUIREMENTS
TABLE”

T—ANCHOR
I/ SCREW/BOLT
PER ELEVATION

@

T

4 1/2" MIN.

CONCRETE EDGE 1 e

SECTION "A—A” (INTO CONCRETE)
SCALE: 1/4 FULL

M STANDARD T—ANCHOR

SCALE: 1/4 FULL

A
¥

7 5/8” 5 5/8”
1 /——— U—ANCHOR
SCREW/BOLT
PER ELEVATION AN
I - SUBSTRATE BY 1/27 CONCRETE—" ) 6" MIN.
) OTHERS PER  SCREW PER "ANCHOR EDGE
"ANCHog e REQUREMENTS | DISTANCE
REQUIREM TABLE” _
QDOOR JAMB U—ANCHOR TABLE” O EDGES—_ EXTERIOR [
SCALE: 1/4 FULL —
SECTION "D-D

INTO CONCRETE AT
INTERMEDIATE MEMBER)

SCALE: 1/4 FULL

4 1/2" 4 1/2" 3/4” DRAVVVIN -gY: CHECKED BY:
" MIN. 1" MIN.  3/4” MIN. —A«*& ‘_’._*__ e
MIN. / MIN. VI i
I !
i 37— .
» <
17 MIN. T—ANCHOR g 4@» T-ANCHOR
o ||e A |
»3 3/4 . . z
7 5/8
/8" 75/8 21/8 2
3
©- 2" | |
1" MIN. @ @ ]
' 3/411 1 E
] f -
3/8" SCREW ORJ J — 2
EDGE DISTANCE BOLT PER "ANCHOR g) 44’;3 OSLCTREW
REQUIREMENTS TABLE” ' EXTERIOR 5
Q ” ” PER ” EXTERIOR 2 B;‘ §
SECTION "B—B” (INTO STEEL "ANCHOR SECTION "C—C 080
. (&) u
SCALE: 1/4 FULL REQUIREMENTS  (ALTERNATE INTO STEEL) 2w 3
TABLE” SCALE: 1/4 FULL Z| 2834
M SEE SECTION "E—E” FOR USE OF xl IEETR
I B— 388 WHEN AT A PERIMETER SIDE =l 584
EDGE DISTANCE =, JAMB 4] HogR
‘ 1 x Zni
" () — 34 | .38 |
388 @ ZE
' =k
U—ANCHOR o Jo
| =
., U—ANCHOR } -
7 5/8 5 5/8" 7 5/8” 2 1/8 - B
_ al ©
A
[7p] -—
- ol 27 .
- o ==Y 8] Bged
" A " 5/16” SCR - E7 3
1/2" CONCRETE “ O O B0l ek a | 82 %3
= EDGE Y] ZO =4
SCREW PER . 4 ; u | Z6 pyd
"ANCHOR S 2 DISTANCE RAE%%ngMENTs o @ SET
- = -1
$AE(BDEJEI§EMENTS EDGES—._ [EXTERIOR l 8 TABLE” EXTERIOR (3 k< £o8
N £ 038
” » » M 5.0 3o
SECTION "E—E SECTION "F—F’ |~ | 8¢ :55
(INTO CONCRETE AT (INTO STEEL) 2 =5 &
o}
PERIMETER SIDE JAMB MEMBER) SCALE: 1/4 FULL S5z
SCALE: 1/4 FULL A EA
WY, = o
T IR
D 384},%» u
e 2 a
[ el . . w fing
= M L M ~, b 2 - D{?
é oo [BN\ S rh
RN : MR MY = we
. ° % v d).)l <C T
ot " h l’i 7349 IS 5s
Rt "SRR R Ol = o
AR R PR SR C PR | Zul
:Yi \',-"*' g ; sz . =~ '-(:\’? ;‘: ©
e VEY O 2
T e, < L. e =
“'\ % 8 ﬁ P, i
e ™ [~ DRAWING NO. |
R 17941
SHEET NO.
5 o 12




|[oRaWN BY:“JcHECKED BY: |
" I " | N WW.S. WWS. I
, — 31/2" |- 4 3/4 e Pens
A\ 06 3 1/2” MIN. '
Ty TT — ~—1
* — EDGE DISTANCE g H% | F_A(lSDH;F\ . l
| ! o
i ‘ " ,
1 @; _ _@ =3/
¢ | { e F—ANCHOR @ - © 3
H T Y A SCREW/BOLT | |
. H 1 PER ELEVATION ]
r 1/1/A§( ) IH 7 5/8" 5 5/8" 8" 7 " g
- L} L1 - o
5 }L—l / \ rreror 1/2" CONCRETE / >/ 4
f SCREW PER N 3
"ANCHOR 1/4” SCREW ' | : ]
8¥E§;§A§ERBY REQUIREMENTS A PER "ANCHOR {n:
C TABLE” — © REQUIREMENTS @; — 1 , (=
" ANCHOR I I Y TABLE” $ — 3/4 g I
REQUIREMENTS . 1 I
A 4 1/2" MIN. .
! Zro
A\ F-ANCHOR (FRAME MEMBER ENDS) , DISTANCE 28,
SCALE: 1/4 FULL |___—CONCRETE EXTERIOR X3miB
EDGES —~_ EXTERIOR 1 e . ) ~| Eu 3
SECTION "H—H 7| 22°¢2
SECTION "G-G” (INTO STEEL) | 3 SEUT
(INTO_CONCRETE) SCALE: 1/4 FULL | S L3ER
SCALE: 1/4 FULL 2| £52
| 2 [
< I3
O =z
- I8
= —~
= o
nl so
¢
ol o7
Sl E“ 3
7 [T =
-— wo ):‘-:n¢
ZZ k3
1Y) ZO Ly
o X821
IS < ©
© h-_’ . gcm
= ‘“§ ngy
» I _ga?
- 8% Kgm
ofr_.E &
S0
R, & ‘g’ 5
- o st Jiby =) o ©O
e B TN,
BT r
- o
:{;}‘:“ Eé M %q"i‘y} (=] g:.;5
MU 4'.&2,;%‘;2;4,9 S |Ee
"’un:,;:;ﬁ,ﬁ- Pt Dot g o~ é'-
e Dl - DN R R | 15 o
3. ) . ém Tt :\‘J"(,)AJHE "?Z
P v S |- ~
'Qf_;‘l -,'., <o " .~ o i
BN - «© g
R S
' ) R LT
17947 | A
SHEET NO.

6 o 12




"DRAWNWBY: CHECKED BY:
SUBSTRATE SUBSTRATE pw::" S. w;w.s
BY OTHERS BY OTHERS \ =2 | wss
T SEALANT 5
EEA A i BY i
OTHERS / OTHERS 7 / N
Z // J& I
/ oo / < 3
o o :
® ® e /o @ ® e
MAX. i MAX. z
\\ SPACE i+ AT \\ GXS)J SPACE 2
._/ AV 20| AN 7 \@ g
© Q—SEE GLAZING \_@ \_@ = kSEE GLAZING \_.. \_@ ’y g
DETAILS ON DETALS ON Q0 @)
SHEET 1:{ SHEET 12’ 2'0;:%
~O O
SECTION  /a\ SECTION /7% zo"”8
SCALE: 1/2 FULL \./ SCALE: 1/2 FULL \7/ %géé
L v
2’ MI 0 g ZhY
—|  J~=1/2" MAX. sPacE ] |—1/2" max. space 1/(SEEMNN(')“T’1LEJMN& 71 O:?\J/ iHyérx”;"gM—- f— gagg

11/2"
MIN.
f

SEE GLAZING
DETALS ON OOR
SHEET 10 G ™~

| _T>’ ’ 2

| .

= ~

| X E%?;;g

SECTION /&

SCALE: 1/2 FULL \7/
(SIDE JAMB F-ANCHOR TO STEEL AND CONCRETE)

SEALANT BY
OTHERS

STEEL OR
CONCRETE
SUBSTRATE BY
OTHERS PER
"ANCHOR
REQUIREMENTS
TABLE”

l

SIDE JAMB

F_PERIMITER 3/4" MIN.

ANCHOR SCREW
PER ELEVATION ,
11/2”
SEE GLAZING /

DETALS ON |

4

-
f

| \‘E%?;;g

SHEET 10
1 _>V = 2

WOOD OR
METAL STUD
SUBSTRATE BY
OTHERS PER
"ANCHOR
REQUIREMENTS
TABLE”

i SIDE JAMB

F—PERIMITER
ANCHOR
SCREW PER
ELEVATION

(2 ROWS)

st o

SECTION /B
SCALE: 1/2 FULL \ 7/

OTHERS

(SIDE JAMB F—ANCHOR TO WOOD OR METAL STUD)

SUBSTRATE
BY OTHERS

EON

SEE GLAZING
DETAILS ON

SHEET 10
g

J
= ‘\F .

\SEALANT BY

SECTION /&3

SCALE: 1/2 FuLL \ 7/
(NO SIDE JAMB F—ANCHOR)

OTHERS

3
10 13/16" DEEP 1600 SYSTEM 1 CURTAIN WALL (L.M.1L)

1

DRA

JOB INFORMATION:

7480 150TH COURT NORTH
PHONE: 561-744-3424

PALM BEACH GARDENS, FL 33418

W. W. SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG. NO. F—14980)

CONSULTANTS

DRAWING NO.

2016

. SCHAEFER, P.E.
. NO. 113497

17947

SHEET NO.

7 o 12




DOOR
UNDER
SEPARATE
APPROVAL

) -
R VY

|~ 1/2" MAX. SPACE

STEEL OR
CONCRETE
SUBSTRATE BY
OTHERS PER
"ANCHOR
REQUIREMENTS
TABLE”

l SIDE JAMB

l| 11/2" F—PERIMITER
MIN. ANCHOR SCREW

PER ELEVATION

15(16)

\SEALANT BY

SECTION g  OTHERS

SCALE: 1/2 FULL \38/

(SIDE JAMB F—ANCHOR TO STEEL AND CONCRETE)

DOOR
UNDER
SEPARATE
APPROVAL

[ 4]

|~ 1/2" maAX. SPAcE

WOOD OR
METAL STUD
SUBSTRATE BY
OTHERS PER
"ANCHOR
REQUIREMENTS
TABLE”

u SIDE JAMB

F—PERIMITER
ANCHOR

SCREW PER
ELEVATION

(2 ROWS)

15X16)

ExEmor] ()
o’ /e’ o .

SECTION

oA

SCALE: 1/2 FULL \38/

OTHERS

(SIDE JAMB F-ANCHOR TO WOOD OR METAL STUD)

1/2” MINIMUM TO 1 3/8" MAXIMUM
(SEE NOTE NO. 7 ON SHEET 1.)

[EE——

DOOR
UNDER
SEPARATE
APPROVAL

SUBSTRATE
BY OTHERS

Exeror] () ,
®

SECTION

KSEALANT BY

SCALE: 1/2 FULL

(NO SIDE JAMB F—ANCHOR)

@ OTHERS
\8/
ARy
- PR S SRR
.1':. nE ;;}J - ?.3"21‘1
O e :--L‘.: .‘. \()v':
R ~h
SR SRS
- . Ve W ¢
h [N . Q M. (Jq°.4l
2 :”, g . Do g Losé
AL Ay e WY
:.“’-’.i;&ﬂ; S T S
‘v '. : bC»" . ~ .A,' ‘7
- T .
s‘. S -
Lar ¢ el -
Bl oo i
K -

DRAWN 8Y:
W.W.S.

CHECKED BY:
WWS.

PLOT: DATE:
1=2 03/13/13
=
3
&
z
Qo
g
4
[&]
2
[=1
z
o
73
]
x
o
z
I [SYEN]
s e
=53
~O N
£5-3
< w0
—~~ Qo<
=] 222
T -3
3| SEg3
| ~— 5’500
- i © X~
O~
2 Zh5
§ =Z0no
5 gnz
Z =
=B
E [
3E
m
e B
= —
(] [}
ol s5
> <+
w ovl—
4
S| g“ 3
©| Hgz?
-~— [~ 3
Z2Z 5 9
o o _ZLn.r"')
Ll 4 =
il ] 23
o X 8g)
LI-' w0
© b o Eg‘“
-— LIJQ_- B L
. % 23
M ~ QDT
-— OOv o
" (nz rxé
o le_.E
- IEz5 =
73
22
<
8 O

CERTIFICATION

2016

SCHAEFER, P.E.
NO. 113497

l WARW .

DRAWING NO.
17947

SHEET NO.

8 or

2

>2

x

12




DRAWN BY: CHECKED BY:
w WWS W.WS
PLOT: DATE:
SEE GLAZING—\| 1=2 03/19/13
DETALS ON ~G9) @)
SHEET 10 AEN ;
(10) = \
0 [ y4
(RFFZD Orzted] >z = -
7 #5/16" : /
¢ ] WEEP HOLE S ® ./ 5 |
g (ONLY REQUIRED LOC/>TED @ ® £
WITH REINFORCED 3 5/8” 2
/ LJ
/ SYSTEM) FROM 2 OO \ , 4
ENDS X 1747 MAX. z
; AN _E %
/ & i e S — f g I
f —_—— ~— 1
SEALWT By IS ol \—@ _ |
OO0NIY/ OTHERS J z
]
/ 3
el EXTERIOR »38%83
¢ ) DOOR UNDER | £..8
’ SEPARATE DOOR UNDER =| &8sy
G~ H APPROVAL SEPARATE APPROVAL =| 32,3
M Wae
™ 3| Yo~
SEE GLAZING || /] Javy 2| 238
DETALS ON || Urbdrry R, T SECTION /g i
SHEET 10 Za Z SCALE: 1/2 FuLL \9/ < <
S i
I / g 8 2
{31]
—\ferry —E
EXTERIOR YA 6| o
SEE GLAZING— g| &l o
TV
SECTION /7  DETALS ON D 2 | g 2,
SCALE: 1/2 FULL \8/ o | &5 %3
- , / w | &8 g3
] A o1 «£8g1
I 05/16— VI 7 ot N
WEEP HOLE N LT
LOCATED | B ® C ] o | 5882
3 5/8" Nl RZEEE
FROM N Q) . o [esE 2
ENDS X i 528
5 7 e
8 O
SEALANT BY- \@ f
OTHERS L
[€=] o
00 S |5
- |2
EXTERIOR gl
a2
DOOR UNDER =

SEPARATE APPROVAL

WING NO.
1794
SECTION A 794 Io'

SCALE: 1/2 FULL \9/ 9 o 12




2

! -
’ J Ea

kSEE GLAZING
DETAILS ON
THIS SHEET

5/
§
28

DETALS ON
THIS SHEET

SEE GLAZING

\

A
SECTION

(i

SECTION

(F2

SCALE: 1/2 FULL \J0/

SCALE: 1/2 FULL \J0/

(777
QOO BEE
/] EXTERIOR EXTERIOR —29)
/ -+ <
g | ! 4 i
7 3/4” MIN. BITE F';;F 3/4” MIN. BITE rJ,;"
ol o)
coN|l s S0 ’ T
g (30) (30
g
z 20 DOW 995 OR 983 DOW 995 OR 983
g (ONLY REQUIRED arin
WITH REINFORCED =
SYSTEM) ‘I | SEE GLASS SEE GLASS
OPTIONS BELOW OPTIONS BELOW
O TYPICAL MONOLITHIC GLAZING DETAIL TYPICAL 1.G. GLAZING DETAIL
N GLASS OPTIONS: CGLASS OPTIONS: - .
<\r—\ OPTION 1: 5/8” THICK LAMINATED VIRACON HRG-2 GLASS (1/4" HT. OPTION 6: 1 5/16” THICK 1.G LAMINATED GLASS (1/4” HT. ST. OR
ST./0.050" URETHANE/0.080” POLYCARBONATE/0.050” URETHANE/1/4” HT. ST.) TEMPERED EXTERIOR; 1/2 AR SPACE; 1/4” HT. ST./0.090" EASTMAN
OPTION 2 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.100” EASTMAN CHEMICAL CO. SAFLEX/1/4” HT. ST. INTERIOR)
A 455550, CHEMICAL CO. SAFLEX HP/1/4" HT. ST.) OPTION 7: 1 5/16" THICK 1.G LAMINATED GLASS (1/4” HT. ST. OR
h OPTION 3: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090” KURARAY TEMPERED EXTERIOR; 1/2" AIR SPACE; 1/4” HT. ST./0.090" KURARAY
(I \\ L (PREVIOUSLY DUPONT) SG/1/4” HT. ST.) (PREVIOUSLY DUPONT) BUTACITE PVB/1/4” HT. ST. INTERIOR)
= — — = OPTION 4: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090” EASTMAN OPTION 8: 1 5/16” THICK 1.G LAMINATED GLASS (1/4” HT. ST. OR
[ \o ] ]& | CHEMICAL CO. SAFLEX/1/4” HT. ST.) TEMPERED EXTERIOR; 1/2" AIR SPACE; 1/4” HT. ST./0.090” KURARAY
(10) = SEE GLAZING OPTION 5: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090” KURARAY (PREVIOUSLY DUPONT) SG/1/4” HT. ST. INTERIOR)
EXTERIOR DETAILS ON (PREVIOUSLY DUPONT) BUTACITE PVB/'I/4" HT. ST.) NOTE: EXTERIOR GLASS PANE OF L.G. GLAZING ‘L}f\"‘;\t\ Q;.L\
SECTION /T THS SHEET SHALL BE TEMPERED WHEN CURTAIN WALL R T,
ALE. 1/2 FULL \d0./ GLASS IS INSTALLED IN A SMALL MISSILE o N
SCALE: 1/ IMPACT LOCATION OF A BUILDING OR WHEN e : ‘:é b,
GLASS IS REQUIRED TO BE SAFETY GLAZED. 2B Sy
RS AR O
¥ ,,;m‘ ;5’: T - R
?,"‘»‘\‘.' t;" - ,\ .
Terat SR g
‘;# At ’ “: s i
L?.‘u Ld b *

CHECKED BY:
WWS.

DATE:
03/18/13

REVISION DESCRIPTION

NO.

770-449-5555

555 GUTHRIDGE COURT
NORCROSS, GA 30092

KAWNEER COMPANY, INC.

JOB INFORMATION:

7480 150TH COURT NORTH
PHONE: 561~744-3424

£

PALM BEACH GARDENS, FL 33418

10 13/16" DEEP 1600 SYSTEM 1 CURTAIN WALL (LML)

W. W. SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG, NO. F—14980)

CONSULTANTS

SCHAEFER, P.E.
P.E. NO. 113497

SE1/ 07 2016
W.

DRAWING NO. [RI

17947 | A
SHEET NO.
10 o 12 JI




8.765 8.744 9.515
8.250 | 8.229 8.250
‘—0.156 ‘—0.156 r0.156
l:) —~ 1 l:)
f f f
0.250 — — 0.156 —~| |=— 0.250 —{ |-
::DJ 2.500 ﬁ 2.500 § 2500
2 1 0
VERTICAL AND HORIZONTAL FRAMING USED WITH ALTERNATE HORIZONTAL FRAMING USED WITH VERTICAL_AND HORIZONTAL FRAMING USED WITH
9.494 | 2500 ﬁH—-zam——aJ — 0.847 ——T~
0.156 229 | N qf;:i?_BﬁEﬁrliﬂ-— — 1.347 0.100
¥ {- ~1 0.100 i ® - A 2092
: PRESSURE PLATE
PRESSURE PLATE
0156 | |- (5) PRESSURE_ PLATE @ i
Egg% 2.500 —
/ \ _—// \ PRESSURE PLATE
2 g
® CLASS 3.250 ~—~{{=—0.125 3.250 —{|—0.125
_’1 1250 |- l~——-25oo-————' -:51%27 LENGTH = 7.625" sto:l_ LENGTH = 7.625" Q250'1
0.050
[ ! ocso—jﬁ;;;j 0.942 ) )
f 0.504 —eed 8.500 IIT 8.000 lﬂ_
2.158 T (11) DOOR POCKET FILLER (12) I=ANCHOR (13) E=ANCHOR
PRESSURE_PLATE COVER —— O iy g 0.615
LENGTH = 6.625” WITH PARTS 2 & 4 g 0.345
LENGTH = 7.625” WITH PARTS 1 & 3 7 0.070 —{j=— g 0.092
(9) SHEAR BLOCK 0125 =~ 2.458 A o1 3 T
LENGTH IS 4.000 0.630
2.270 —-] 0.125 —= |— CONTINUOUS. || /
3.250 < 9
LENGTH IS — @ 7 0.992 ,l
HORIZONTAL FRAMING
1 460 CONTINUOUS. /
0155 iffffi 7.438 GASKET
/]
0250 - —] 1125 |— —] 1125 |-
LENGTH = 7.750" () F-PERMIER ANCHOR F—PERIMITER_ANCHOR f
- USED WITH WIH LG,
U=ANCHOR USED WITH MONOLTHC — gipos ettt /]
GLASS SYSTEMS
4
4
%
s ar e,
MULLION REINFORCEMENT

PLOT:

DRAWN BY: CHECKED BY:
WWwS, WW.S.

DATE:
1=2 03/19/13

=4
<
3

BY

REVISION DESCRIPTION

NO.

555 GUTHRIDGE COURT

KAWNEER COMPANY, INC.
NORCROSS, GA 30092

JOB INFORMATION:

770—449-5555

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561~744-3424

10 13/16" DEEP 1600 SYSTEM 1 CURTAIN WALL (LM.L)

W. W. SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG. NO. F—14980)

CONSULTANTS

CERTIFICATI
2016

SER

DRAWNG WO,
17947

A

>

. SCHAEFER, P.E.
£. NO. 113497

WARREN

1 or 12

SHEET NO.
[ 1




ITEM # ITEM DESCRIPTION MANUFACTURER/NOTES s e
PARTS T mgsz}vs/u
1 [VERTICAL AND HORIZONTAL FRAMING USED WITH 6063-T6 ALUMINUM '
MONOLITHIC GLASS %
| 2 |ALTERNATE HORIZONTAL FRAMING USED WITH 6063-T6 ALUMINUM
MONOLITHIC GLASS 3
3 |VERTICAL AND HORIZONTAL FRAMING USED 6063—T6 ALUMINUM
WITH 1.G. GLASS z
4 |ALTERNATE HORIZONTAL FRAMING USED WITH 6063—-T6 ALUMINUM [E
.G. GLASS §
b 5 |PRESSURE PLATE 6063-T6 ALUMINUM z
6 |PRESSURE PLATE 6063-T6 ALUMINUM 2
| 7 [|PRESSURE PLATE 6063-T6 ALUMINUM 2
8 |PRESSURE PLATE 6063—T6_ALUMINUM 3
9 |SHEAR BLOCK 6063-T6 ALUMINUM E
10 |STANDARD PRESSURE PLATE COVER 6063-T6 ALUMINUM S o
11 [DOOR POCKET FILLER 6063-T6 ALUMINUM Z§§m
[ 12 [T-ANCHOR 6063-T6 ALUMINUM om0
| 13 [F-ANCHOR 6063—T6 ALUMINUM ~| £8<9
” 14__|U-ANCHOR 6063-T6 ALUMINUM =] 32°¢2
15 |F—PERIMITER ANCHOR USED WITH MONOLITHIC 6063-T6 ALUMINUM a m%@i
GLASS SYSTEMS S| gosR
16 |F—PERIMITER ANCHOR USED WITH 1.G. 6063-T6 ALUMINUM 2| £3¢
GLASS SYSTEMS =l: 8n=z
17 |HORIZONTAL FRAMING FILLER 6063-T6 ALUMINUM Z ﬁ
20 |MULLION REINFORCEMENT ASTM A-653/A—04A GRADE 50 gl
23 [5" X 3" X 3/8" X 6" LONG ANGLE 50 KSI STEEL 3
SEALS & SEALANTS - B
28 [FIXED GASKET TREMCO TR4726P EPDM DUROMETER 70 +/-5 = —
29 |THERMAL SEPERATOR TREMCO TR—4015P_EPDM DUROMETER 60 +/—5 i 2
30 |EXTERIOR GLAZING FIXED GASKET TREMCO TR—4014P EPDM DUROMETER 60 +/-5 > 3%
31 |5/16" X 7/16” GLAZING TAPE NORTON V2100 FOAM OR TREMCO 920 ol 20 .
32 |STEEL TO ALUMINUM SEPERATOR THERMO-TOK_TN—9004 S| B s
FASTENERS — ] ¥SE&7:
36 [1/4” X 1" HWHTF TYPE "AB” SCREW 300 SERIES S.S. WITHIN 3" FROM ENDS & 9" MAX. 0.C. (300 SERIES S.S.) &l 25 fif
37 _[1/4-20 X 2" FNTCS 300 SERIES S.S. WITHIN 9” FROM ENDS & 9" MAX. 0.C. (GR. 5 STEEL) W Mg
38A [NO. 8 X 1/2” FHTFS 300 SERIES S.S. 8 PER_U-ANCHOR AT INTERMEDIATE MEMBERS (4 PER SIDE OF MEMBER) . | B 255
388 |NO. 8 X 1/2” FHIFS 300 SERIES S.S. 6 PER U-ANCHOR AT SIDE JAMB MEMBERS (AT 1 SIDE OF MEMBER) | 825z
39 |NO. 12 X 1 1/2” FHTF TYPE "B” SCREW 300 SERIES S.S. |2 PER SHEAR BLOCK (300 SERIES S.5.) w| L .e82
40 [NO. 12 X 7/16” PHTF TYPE "AB” SCREW 300 SERIES S.S. |4 PER SHEAR BLOCK (430 SERIES S.S.) 1. 2273
41 _|NO. 12 X 1" PHTF TYPE "AB” SCREW 300 SERIES S.S. 2 PER SHEAR BLOCK (300 SERIES S.S.) 2 eE5
[
3=2
g 8
w
<
N\~

REN W. SCHAEFER, P.E.
P.E. NO. 113497

17947

A.
1§HEE:)FNO.1 9 JI




